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ENGLISH VERSION
1 (a) Gaurav Ltd. produced and sold 2000 machines in the i5
year 2016. Trading and P and L A/c. at the year ending on
31-12-2016 is as under.
Material 8,00,000 | Sales 31,00,000
Direct wages 12,00,000
Manufacturing exps. 6,00,000
Gross profit 5.00,000
31,00,000 31.00.,000
Administrative exps..: . ..ofof Gross profit . 3. .5,00,000. .
Fixed  2,00,000
Variable 40,000 2.40,000
Selling exps :
Fixed 20,000
Variable 80,000 1,00,000
Net profit 1,60,000
5,00,000 5,00,000
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For the year 2017, the estimates are given below :
(1) Output and sales will rise by 25%.

(2) Price of material will rise by 25%.

(3) Wage rate will increase by 10%.

(4) Manufacturing exps. will be increase by combined cost of

material and wage.
(5) 20% profit on selling price is estimated.
Prepare cost sheet for both the year.

State the limitation of cost accounting.

OR

Write a detail note on methods and techniques of costing.

Write a note on estimated cost sheet (tender sheet).

Two types of material, 'Rang' and 'Color' are used

Average usage 1,000 units per week each.
Minimum usage 900 units per week each.
Maximum usage 2,100 units per week each.
Delivery period Rang' 6 to 8 weeks and,

'‘Color' 3 to 5 weeks.
Ordering quantity 'Rang' 8,400 units and,

'Color' 14,000 units.

Compute for each type of material and find out :

{4)——Safety—stocke-level—e -

(b)
1 (@
(b)
2
as follows :
(1) Reordering level
(2) Minimum level
(3) Maximum level
(b) Write a short note :

Rowan Bonus plan.

OR

10

15
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7 (a) From the following details, calculate labour turnover rate and 16
equivalent annual rate.

(1)

Separation method

Replacement method

. of employees as at 1-3-2016 ... 150

of employees as at 31-3-2016 ... 200
. of employees resigned ... 20
. of employees discharged ... 5

. of employees appointed at vacant post........ 20

(b) Write a short note :

M
@)

FIFO method

Material turnover rate.

10

3 (a) Navrang company has 5 departments. A, B, C are production 15
departments and D, E service departments. The expense of a
month are as follows.

Rent and taxes 10,000 | Indirect wages 3,000
Dep. on machinery 20,000 | Electric charges 1,200
Power exps. 3,000 | General exps. 20,000
Additional information :
Particulars Production Dept. Service Dept.
A B C D E
Space occupied (sq. fi.) 4,000 5,000 6,000 4,000 1,000
No. of light point 20 30 40 20 10
Direct wages (Rs.) 6,000 4,000 6,000 3,000 1,000
Horse power (H.P.) 120 60 100 20 -
Cost of machine (Rs.) 1,20,000 | 1,60,000 | 2,00,000 10,000 | 10,000
Allocation of Dept. 'D' 20% 30% 40% - 10%
Allocation of Dept. 'E' |  40% |  20% | " 30% | 10%| -
Prepare statement of allocation of overhead expenses.
(b) What is an operating (service) costing ? 5
OR
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3 (a) Bhagvati transport Co. supplies the following details in 10
respect of a truck of 5 ton capacity.

Cost of truck ... Rs. 2,00,000

Estiamted life.............................. 10 years

Scrape value ... 10%

Diesel, oil, grease etc. ... Rs. 40 per trip each way.
Repair and maintenance ....................... Rs. 1,000 per month
Driver's wages ... Rs. 1,200 per month
Cleaner's wages .............................. Rs. 800 per month
Insurance ... Rs. 9,600 per annum
TaX o Rs. 4,800 per annum
Supervision charges ............................ Rs. 9,600 per annum

This truck carries goods to and from the city covering a
distance of 80 kilometers each way. In outward trip freight is
available to the extent of full capacity and in return trip it is
50% of capacity.

Daily only one round trip is possible. The truck runs on an
average 25 days in a month. Find out operating cost per ton
kilometers.

(b) Explain about classification of overheads. 10

4 A product passes through three different processes No. 1, 2, 3 to 20
completion. 1,000 units of materials were introduced in process
No. 1 at Rs. 5 each.

Particulars Process-1 | Process-2 | Process-3
Materials 2,000 3,020 3,462
Direct wages 3,500 4,226 5,000
Manufacturing exps. 1,500 2,000 2,500
Normal wastage
(of-tie—mits—introduced) = 10%" |~ 5% | ~10%

Sale value of wastage (per unit) Rs. 3 Rs. 5 Rs. 6
Actual production (in units) 9520 870 300

Prepare process accounts and also prepare abnormal wastage and
abnormal gain accounts.

OR
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a

(a)

(b)

(@)

What is job costing ? Explain its imporiaince and state in
which indusiries it is applied.

Write a short note : (any two)
(1) By-products
(2) Abnormal gain

(3) Abnormal wastage

Shreenathji construction company undertook a contract on
1-1-2016 for Rs. 8,00,000 to construct a building.
The details as on 31-12-2016 are as under :

Rs.
Materials supplied ... 2,40,000
DITeCt WaZES .....o.ooioiieioie e 1,84,000
Direct eXPenses............cccovoviieiiiieiiiiee e 17,600
INAirect eXPEenSes .........c...oooviivieeeiieeeieie e, 4,800
Work certified ... 6,00,000
Work uncertified ... 6,400
Material at site (31-12-'16) ... 4,000
Plant supplied (1-1-"16) ... 11,200
Cash received from contractee .................................. 4,80,000

(b)

16

15

Calculate depreciation at 20% on plant. 2/3 of the profit for

the year on cash basis is transferred to P & L account.
Prepare contract account, work in progress account and
contractee's account.

Write a note : Cost audit.

OR
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5 (a) A building contractor having undertook a contract of i0
Rs. 10,00,000, and execution of the work as on 1-1-2016.
Material supplied 341,396 | Machinery supplied 60,000
Direct labour 2,97,500 | Direct expenses 12,668
Indirect expenses 16,504 | Material return from
Work certified 7.80,000 the site 2,196
Work uncertified 18,000 | Cash received 7,20,000
Outstanding labour 10,760 | Materials on hand 7,532
(Dt. 31-12-'16) Machinery at site 44,000
(Dt. 31-12-'16)
2/3 of the profit of the contract is transferred to P and L
account on cash basis. Prepare contract account.
(b) Explain objectives and utility of cost audit. 10
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